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38. For the rotational mechanical system shown in Figure P2.17. write. but du not

solve. the eguations of motion.
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29. Write the equations of motion for the rotational mechanical system shown in
Figure P2.18.
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31. For the rotational system shown in Figure P2.20, find the transter function.

Figure P2.20 Gls) = thats) Tis).

STa — |V =4
-—ﬁ) Iy =2kg-m? H
Lo Dy= 1 N-m s/rad

Na=12 v/\m) ; . Ni=+4
l—}—‘€ 2= 1 kg-m- )“i
D=2 N-ms/rad |

' K = 64 N-ny/rad {--

Ny= 16| r~ - .
) Ji=16 kg~m~'\__/m\
Dy =32 N-m s/rad W, .

32. Find the transfer function. G(s) = 8-(s) T(s), for the rotational mechanical
system shown in Figure P2.21.
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33. Find the transfer function, G(s) = 84(s). T(s). for the rotational system shown

in Figure P2.22.
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